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What is the multiplicative inverse of  3i?

1) [image: image1.png]-3;



   2) [image: image2.png]


   3) [image: image3.png]


   4) [image: image4.png]




2
What is the multiplicative inverse of  [image: image5.png]


?

1) [image: image6.png]


   2) [image: image7.png]ol¥



   3) [image: image8.png]


   4) [image: image9.png]by





3
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 is equivalent to
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Expressed in [image: image15.png]a + bi
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The expression [image: image26.png]Y]
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 is equivalent to
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 is equivalent to
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The expression [image: image41.png]
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Impedance measures the opposition of an electrical circuit to the flow of electricity.  The total impedance in a particular circuit is given by the formula [image: image46.png]L2y
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.  What is the total impedance of a circuit, [image: image47.png]
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Express [image: image52.png]


 in simplest [image: image53.png]a + bi



 form.
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